Fi an-l_-Ij-/j)[/T_/)-l

&+l F2 45

Kui 14

STAHO/NIL(BALT 1)
BTN T—4



»
N

e T I e e e
N o O N wWN e

N N

N -

o1 o1 o1 O
A w0 N -

0 o Ul A B WODNDNMNDNDPRFPPFP PP PP

N NN NN R R P R R PP R R
o U0 h NO © © NO O MwWwNO




1.2

1.3

Kui_14.F8F
ST

15.0 (mm)

15.0 (mm)

2.00 x 10° (N/mm?)

14 ()

216.3 (mm)

12.00 (mm)

1.0 (mm)
STKT590

232.0 (mm)

20.50 (m)
STK540 N/mm?
No o ca o ta Ta
1 1.00 230.00 230.00 130.00
2 1.50 345.00 345.00 195.00
STKT590 N/mm?
No o ca o ta Ta
1 1.00 255.00 255.00 145.00
2 1.50 380.00 380.00 215.00
HT780 N/mm?
No o ca o ta Ta
1 1.00 355.00 355.00 200.00
2 1.50 532.50 532.50 300.00

FORUMS8




1.4

1.5

1.6

3?00
i
i
i
i
i
i
i
i
i
i
i
i
[

WEHHARE ( RAE)

No

-4.500

1.250

-3.000

-1.250

-1.500

0.000

1.500

(o2 B S 2 B - VO R N SR

3.000

4.500

— - (1B )
m) o Eo(kN/m?) y (kN/m) T c(kN/m?)
No N ) DE
Y y TC T cn
1 8.000 | 8.000 10.0 28000.0 56000.0 | 18.00 9.20 50.0 50.0 | 1.000
2 11.200 | 11.200 23.0 64400.0 128800.0 | 18.00 9.20 | 115.0| 115.0 | 1.000
3 1.300 | 1.300 50.0 140000.0 280000.0 | 19.00 | 10.20 | 200.0 | 200.0 | 1.000
Kv(kN/m)
131567
131567
(kN7 )
501
751
229
459

FORUMS8




1.7

KH(KN/m®)
Yo (m
1 8.000 | 8.000 62516 125032 62516 125032
2 | 11.200 | 11.200 143787 287574 143787 287574
3 1.300 | 1.300 312581 625161 312581 625161
D

No V(KN) H(KN) MCKN )

1 1.00 4200.0 1520.0 2310.0

2 1.50 4200.0 1960.0 3970.0

FORUMS8



@
a)

@

K1 kN/m 16381 27550
K2 kN/rad 9922 14032
K3 kN.m/m 9922 14032
K4 | kN.m/rad 12020 14294
K1 kN/m 16381 27550
K2 kN/rad 9922 14032
K3 kN.m/m 9922 14032
K4 | kN.m/rad 12020 14294

FORUMS8




2.2

Azz
Azx
Aza
Axx
Axa
Aaa

@
a)
D

@
a)
D

2)

2)

Azz Azx Aza 07
=| Axz Axx Axa o x
Aaz Aax Aaa o
> Kv cos’®0 Kl sin® i
Axz X Kv cosB sinB Kl sin@ cos® i
Aaz X Kv X cos® KL X sin®® K2 sin® i
>~ Kv sin’® KL cos’® i
Aax ¥ Kv X sinB cosB K1 X sin@ cosB K2 cosB i
> Kv X* cos’® K1 X* sin® K2 K3 X sin® K4
Azz (kN/m)
Azx Axz (kN/m)
Aza Aaz (kN/rad kN.m/m)
Axx (kN/m)
Axa Aax (kN/rad kN.m/m)
Aaa (kN.m/rad)
Azz Azx Aza | | 1841938 0 0
Axz Axx Axa |= 0 229335 -138910
Aaz Aax Aaa | | 0 -138910 3046307
Azz Azx Aza | | 1841938 0 0
Axz Axx Axa |= 0 385694 -196449
Aaz Aax Aaa | | 0 -196449 3078146
Azz Azx Aza | | 1841938 0 0
Axz Axx Axa |= 0 229335 -138910
Aaz Aax Aaa | | 0 -138910 16745720
Azz Azx Aza | | 1841938 0 0
Axz Axx Axa |= 0 385694 -196449
Aaz Aax Aaa | | 0 -196449 16777560

FORUMS8




2.3

PN Kv+cos Kvesinf Kv-X-cosf 07z
PH |=| —Kl-.sin@ KI+cosf —KIl+X-sinf-K2 0 x
Mt i K3+sinf -K3-+cosf K3+X-sinf+K4 |i| «
o zi (0z a Xi) cosBi O6Xx sinfi
o Xi 0z o Xi) sinBi &x cosb i
PNi (kN7 )
PHi (kN )
Mti (kN.m/ )
Kvi (kN/m)
Kii K4i (kN/m,kN/rad,kN.m/m,kN.m/rad)
Xi (m)
01 (rad)
0z (m)
o X (m)
a (rad)
o zi (m)
S xi (m
Vi Hi
Vi PNi cosB i PHi sinf i
Hi PNi sinB i PHi cos6 i
i i
@
a)
@
Vo = 4200.0 (kN) 0z= 2.28 (mm)
Ho = 1520.0 (kN) 0 X = 7.29 (mm)
Mo = 2310.0 (kN.m) a = 0.00109065 (rad)
No | Y(m) PN(KN) PH(KN) MECKN .m) Vi(kN) Hi(kN) | & Fx(mm)
1 1.250 7 479.37 108.57 -59.21 479.37 108.57 7.29
2 -1.250 7 120.63 108.57 -59.21 120.63 108.57 7.29
PNmax = 479.37  (kN) Ra = 501.00 (kN) : OK
PNmin = 120.63  (kN) Pa = -229.00 (kN) : OK
of = 7.29  (mm) da-= 15.00 (mm) : OK
@
Vo = 4200.0 (kN) 0z= 2.28 (mm)
Ho = 1960.0 (kN) 0 X = 5.93 (mm)
Mo = 3970.0 (kN.m) = 0.00166829 (rad)
No | Y(m) PN(KN) PH(KN) ME(kN.m) Vi (kN) Hi(kN) | & fx(mm)
1 1.250 7 574.36 140.00 -59.38 574.36 140.00 5.93

FORUMS8




No| Y(m) PN(KN) PH(KN) ME(KN.m) Vi(kN) Hi(kN) | & fx(mm)
2 -1.250 7 25.64 140.00 -59.38 25.64 140.00 5.93
PNmax = 574.36  (kN) Ra = 751.00 (kN) : OK
PNmin = 25.64  (kN) Pa = -459.00 (kN) : OK
of = 5.93  (mm) 0a-= 15.00 (mm) : OK

FORUMS8



1
H (kN) 108.57 108.57
M (kN.m) -59.21 0.00
K1(kN/m) 16381 8191
K2(kN/rad) 9922 0
K3(kN.m/m) 9922 0
K4(kN.m/rad) 12020 0
Mt Mmax 1/2Mmax
Mt (kN.m) -59.21 0.00
Mmax  (kN.m) 15.17 42.40
Z (m 1.784 0.954
1/2Mmax(kN.m) 29.60 29.60
S (kN) 78.48 -22.41
Z (m 0.318 1.802
Mmax 1/2Mmax = 1/2 max(Mmax,Mt)
Mt
Z (m) 6 x(mm) M (kN.m) S (kN) o x(mm) M (kN.m) S (kN)
0.000 7.288 -59.21 108.57 13.256 0.00 108.57
0.500 6.003 -16.70 62.95 8.036 34.92 37.00
1.000 4.086 5.69 28.77 3.938 42.34 -2.69
1.500 2.325 14.21 7.31 1.255 36.04 -19.47
2.000 1.029 14.74 -3.74 -0.204 25.15 -22.43
2.500 0.230 11.65 -7.73 -0.796 14.71 -18.67
3.000 -0.172 7.67 -7.74 -0.876 6.82 -12.81
3.500 -0.310 4.19 -6.00 -0.714 1.83 -7.36
4.000 -0.300 1.73 -3.88 -0.482 -0.77 -3.31
4.500 -0.228 0.26 -2.08 -0.271 -1.74 -0.79
5.000 -0.145 -0.45 -0.82 -0.118 -1.77 0.49
5.500 -0.076 -0.66 -0.09 -0.024 -1.39 0.94
6.000 -0.029 -0.60 0.25 0.022 -0.91 0.93
6.500 -0.002 -0.44 0.35 0.037 -0.49 0.71
7.000 0.009 -0.27 0.32 0.034 -0.20 0.47
7.500 0.012 -0.13 0.24 0.025 -0.02 0.27
8.000 0.009 -0.03 0.17 0.014 0.08 0.14
8.500 0.005 0.02 0.06 0.006 0.10 -0.01
9.000 0.002 0.04 0.00 0.001 0.08 -0.06
9.500 0.001 0.03 -0.02 -0.001 0.05 -0.06
10.000 0.000 0.02 -0.02 -0.001 0.02 -0.04
10.500 -0.001 0.01 -0.02 -0.001 0.00 -0.02
11.000 0.000 0.00 -0.01 -0.001 0.00 -0.01
11.500 0.000 0.00 0.00 0.000 0.00 0.00
12.000 0.000 0.00 0.00 0.000 0.00 0.00
12.500 0.000 0.00 0.00 0.000 0.00 0.00
13.000 0.000 0.00 0.00 0.000 0.00 0.00
13.500 0.000 0.00 0.00 0.000 0.00 0.00
14.000 0.000 0.00 0.00 0.000 0.00 0.00
14.500 0.000 0.00 0.00 0.000 0.00 0.00
15.500 0.000 0.00 0.00 0.000 0.00 0.00
16.500 0.000 0.00 0.00 0.000 0.00 0.00
17.500 0.000 0.00 0.00 0.000 0.00 0.00
18.500 0.000 0.00 0.00 0.000 0.00 0.00
19.200 0.000 0.00 0.00 0.000 0.00 0.00
19.500 0.000 0.00 0.00 0.000 0.00 0.00
20.500 0.000 0.00 0.00 0.000 0.00 0.00

FORUMS8




2)
H (kN) 140.00 140.00
M (kN.m) -59.38 0.00
K1(kN/m) 27550 13775
K2(kN/rad) 14032 0
K3(kN.m/m) 14032 0
K4(kN.m/rad) 14294 0
Mt Mmax 1/2Mmax
Mt (kN.m) -59.38 0.00
Mmax  (kN.m) 17.74 45.98
Z (m) 1.434 0.800
1/2Mmax(kN.m) 29.69 29.69
S (kN) 102.17 -29.10
Z (m 0.247 1.599
Mmax 1/2Mmax = 1/2 max(Mmax,Mt)
Mt
Z (m) 6 x(mm) M (kN.m) S (kN) o x(mm) M (kN.m) S (kN)
0.000 5.931 -59.38 140.00 10.164 0.00 140.00
0.500 4.423 -8.04 68.82 5.487 41.15 35.19
1.000 2.553 13.57 21.85 2.116 44.43 -14.47
1.500 1.099 17.66 -2.19 0.229 32.55 -28.80
2.000 0.230 13.99 -10.55 -0.546 18.50 -25.68
2.500 -0.163 8.48 -10.57 -0.675 7.78 -16.93
3.000 -0.263 3.92 -7.46 -0.524 1.47 -8.66
3.500 -0.222 1.05 -4.10 -0.313 -1.33 -3.01
4.000 -0.142 -0.33 -1.63 -0.142 -1.99 0.00
4.500 -0.070 -0.75 -0.22 -0.036 -1.65 1.13
5.000 -0.022 -0.69 0.37 0.015 -1.03 1.22
5.500 0.002 -0.46 0.48 0.029 -0.50 0.89
6.000 0.011 -0.24 0.38 0.026 -0.15 0.51
6.500 0.011 -0.09 0.23 0.017 0.02 0.21
7.000 0.007 0.00 0.11 0.009 0.08 0.04
7.500 0.004 0.03 0.03 0.003 0.08 -0.04
8.000 0.001 0.04 0.00 0.000 0.06 -0.06
8.500 0.000 0.03 -0.03 -0.001 0.03 -0.05
9.000 0.000 0.01 -0.02 -0.001 0.01 -0.03
9.500 0.000 0.00 -0.01 0.000 0.00 -0.01
10.000 0.000 0.00 0.00 0.000 0.00 0.00
10.500 0.000 0.00 0.00 0.000 0.00 0.00
11.000 0.000 0.00 0.00 0.000 0.00 0.00
11.500 0.000 0.00 0.00 0.000 0.00 0.00
12.000 0.000 0.00 0.00 0.000 0.00 0.00
12.500 0.000 0.00 0.00 0.000 0.00 0.00
13.000 0.000 0.00 0.00 0.000 0.00 0.00
13.500 0.000 0.00 0.00 0.000 0.00 0.00
14.000 0.000 0.00 0.00 0.000 0.00 0.00
14.500 0.000 0.00 0.00 0.000 0.00 0.00
15.500 0.000 0.00 0.00 0.000 0.00 0.00
16.500 0.000 0.00 0.00 0.000 0.00 0.00
17.500 0.000 0.00 0.00 0.000 0.00 0.00
18.500 0.000 0.00 0.00 0.000 0.00 0.00
19.200 0.000 0.00 0.00 0.000 0.00 0.00
19.500 0.000 0.00 0.00 0.000 0.00 0.00
20.500 0.000 0.00 0.00 0.000 0.00 0.00

FORUMS8
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1)
D= 232.0 (mm) L = 20.50 (m)
H = 108.57 M = -59.21 (kN.m) H = 108.57 (kN)
M [KkN. m] M [kN. m]
-59. 21
—60. 0 0.0 60. 0 —60. 0 0.0 60. 0
\ , | 0 [ |
i 42,402
15. 17— |
5
I L
10
| [m]
- 15
- 20
L=1.784 (m) L=0.954 (m)

FORUMS8
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2)
D= 232.0 (mm)
H = 140.00 M = -59.38 (kN.
M [kN. m]
-59. 38
—60. 0 0.0 60. 0
\ ) |
17.74 -

L=1.434 (m)

- 20

L = 20.50 (m)
H = 140.00 (kN)
M [kN. m]
—-60. 0 0.0 60. 0
| J

45.98

L

[m]

L =0.800 (m)

FORUMS8
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3.3

1
STKT590
D = 216.3(mm) t = 12.00(mm)
= 1.0(mm)
A = 7026  (mm?)
2 I = 36402756 (mm“)
Ys = 107.1(mm)
N M
g = — x££ —+Ys
A I
S
T = —
A
(@)
No M N oc,0ca|ot,ota S T,Ta Mr(kN.m)
(kN.m) (kN) (N/mm?) (N/mm?) (kN) (N/mm?) | Mr_L(m)
-242.51 | 106.04 15.454 |  63.45
1 59.21 | 479.37 | 555’00 | 255.00 | 198-57| 145.000
1
-101.45 | 157.11 15.454 |  80.80
2 59.21| 120.63 | 555700 | 255.00 | 198-57 | 145 000
-256.55 |  93.04 19.927 | 101.33
1 59.38 | 574.36 | 380700 | 380.00| 140-00| 215 000
2
-178.44 | 171.15 19.927 | 127.86
2 59.38 | 25.64 | 355700 | 380.00 | +40-00| 5157000
Nmax Nmin Mr_ L Mr

FORUMS8
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D
No. 1 2

Vo kN 4200.0 4200.0

Ho kN 1520.0 1960.0

Mo kN.m 2310.0 3970.0

d X mm 7.29 5.93

oz mm 2.28 2.28

a rad 0.00109065 0.00166829
0f, da mm 7.29 15.00 5.93 15.00
PNmax, Ra kN 479.37 501.00 574.36 751.00
PNmin, Pa kN 120.63 -229.00 25.64 -459.00

PH kN 108.57 140.00

Mt kN.m -59.21 -59.38

Mm kN.m 42 .40 45.98
ogc,oca| N/mm* | -242.51 -255.00 | -256.55 -380.00
ot,ota| N/mn 157.11 255.00 171.15 380.00
T, Ta N/mm? 15.454  145.000 19.927  215.000

oK 0K
@ = 216.3 (mm)
@ = 232.0 (mm)
= 20.50 (m)
t = 12.00 (mm)

FORUMS8
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> (a -Eoi -Li)

1
?@%ﬁ@ﬁi@ o *Eo =

= 0.2163 ()

= 2.00 x 10° (kN/m?)
= 0.000036403 (‘)

= 0.825479 D)

= 0.825479 D)

= 1.2114 m

= 1.2114 )

= 28000.0 (kN/m*) (FHF)

/B
= 28000.0 (kN/m?) (
. J—— D ‘
FIL O 4 AT IR, BH = — = 0.5119 (m) (7 1)
= 0.5119 (m) (
1
kHo = T Eo = 93333.3 (kN/m®) (R
= 93333.3 (kN/m%) (
BH \ 7
kH = kHo - (—)
0.3
4 kH - -1 g -1
B = Tz = 0.825479 (m") (FWKF), 0.825479 (m") (HERF)
BH a Eo
(m a Eo (kN/m?) kH (kN/m%)
No
1 8.000 8.000 28000 56000 62516 125032
2 11.200 | 11.200 64400 | 128800 143787 287574
3 1.300 1.300 140000 | 280000 312581 625161

)

)

FORUMS8
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5.2

ST

a=0.0249 (L D)

> m O

—

D 70

Kv = 131567 (kN/m)

0.4404 = 1.9195

20.500 (m)
0.2163 (m)

2.00 x 10° (kN/m*)

0.007026

()

FORUMS8
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5.3

1
ST 5N ( 200) 10N ( 150)
2
2
c fi
No (m) (m N (KN/m?) | (KN/m*)
1 0.000 8.000 10.0 0.0 50.0
-8.000
2 -8.000 | 11.200 23.0 0.0 115.0
-19.200
3| -19.200 2.000 50.0 0.0 200.0
-21.200

FORUMS8
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5.4

D

¢ 232.0 (mm)
ST
L = 20.500 (m)
D = 0.2320 (m)
Ra = —— « Ru
n
Ru=oqd A U (@i ti) ( ), ( ( )
Ru=qd A U (i t1i DEi) ( ( ))
Ra (kN)
n 0 ( )
2.0 ( )
y =1.0
Ru (kN)
qd (KN/m?)
qd = 3000 (kN/m?)
A m?»
7T
A= _Z_ +0.2320 = 0. 042 (m?)
U (m
U=m 0.2320 = 0.729 (m)
Li m
T i (kN/m?)
1B
1.211 (m) (
1.211 (m) (
DEi
T Li ti
No N (N/m?) | Lim) | (kN/m?) | (KN/m)
1 10.0 0.0 1.211 0.0 0.0
1 10.0 0.0| 6.789 50.0 339.5
2 23.0 0.0 11.200 | 115.0 1288.0
3 50.0 0.0 | 1.300 | 200.0 260.0
20.500 1887.4
)
T Li ti
No N (N/m?) | Lim) | (kN/m?) | (KN/m)
1 10.0 0.0 1.211 0.0 0.0
1 10.0 0.0| 6.789 50.0 339.5

FORUMS8
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3)

4)

Ti Li 11
No N (KN/m?) | Lim) | (kN/m?) | (kN/m)
2 23.0 0.0 | 11.200 | 115.0 | 1288.0
3 50.0 0.0 | 1.300 | 200.0 260.0
20.500 1887.4
Ru=oqd A U (i t1i)
= 3000 0.042 0.729 1887.4 = 1502 (kN)
( )
Ru=qd A U (i t1i)
= 3000 0.042 0.729 1887.4 = 1502 (kN)
X 1.0
Oy Ra = 50 1502 = 501 (kN)
. 1.0
HER RIE) Ra = 5o 1502 = 751 (kN)
1
Pa = — -Pu
n
Pu=U Z (i tTi) ( ), ( c )
Pu=U X (Li ti DEI) ( « )
Pa (kN)
n 6.0 ( )
3.0 ( )
Pu (kN)
Pu = 0.729 1887.4 = 1376 (kN) ( )
Pu = 0.729 1887.4 = 1376 (kN) ( (
1
OB Pa = o 1376 = 229 (kN)
1
HERRE (R ) Pa = <o 1376 = 459 (kN)
KN/ )
501
« ) 751
229
« ) 459

))

FORUMS8
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D

2)

3)

( STKT590)
D = 216.3 (mm)
W = 300 (mm)
t = 13 (mm)
o ck = 24.00 (N/mm?)
SM490
SM490
h? W ‘ h1
‘ t
IR
n' D
I = 500 (mm)
h = 392 (mm)
hc = min(h1,h2) = 287 (mm)
ht = min( 1,h2) = 500 (mm)
ts = 9 (mm)
I’ = 65 (mm)
Ih" = 100 (mm)
(kN) (kN) (kN.m)
case
PNmax PNmin PHmax SW
1 .00 479.4 120.6 108.6 108.6 59.2 42,4 1
2 .50 574 .4 25.6 140.0 140.0 59.4 46.0 | 1
SW 1: 2:

FORUMS8
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6.2

2)

@
D

2)

PNmax
g Ccv — = (O CvVa
Ap
PNmax )
Ap (mm?)
Ap = W = 90000 (mm’)
W = 300 (mm)
PNmax o cv o cva
case (kN) (N/mnt) (N/mnt)
1 479.4 5.33 12.00 0K
2 574.4 6.38 18.00 OK
PNmax
vV = — """ = T1T42a
4(W-+he) - he
hc = 287 (mm)
PNmax TV T a
case (kN) (N/mnt) (N/mnt)
1 479.4 0.711 0.900 OK
2 574.4 0.852 0.900 OK
. PNmin -
otv = Ap—7t—'D2/4 = ogcva
PNmin nN)
D = 216.3 (mm)
PNmin o tv o cva
case (kN) (N/mnt) (N/mnt)
1 120.6 0.00 12.00 0K
2 25.6 0.00 18.00 OK
PNmin
TVt = ————— = tat
4(W+ht) - ht
PNmin )
ht = 500 (mm)

FORUMS8
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PNmin T vt T at
case (kN) (N/mnt) (N/mnt)
1 120.6 0.000 0.900 0K
2 25.6 0.000 0.900 OK
€))
1)
och = = ocha
PHmax
Mmax
L = 500 (mm)
case PHmax Mmax o ch o cha
(kN) (kN.m) (N/mm?) (N/mn?)
1 108.6 59.2 7.57 12.00 OK
2 140.0 59.4 7.89 18.00 0K
2)
th = — - = ta
h> « @+«L+D+2-h" )
PH N)
h’ = 392 (mm)
PH Th Ta
case (kN) (N/mnt) (N/mnt)
1 108.6 0.138 0.900 0K
2 140.0 0.179 0.900 OK

FORUMS8
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)
1)
e — L [¥DY
ax 5 p
Mmax (N.mm/mm)
W = 300 (mm)
D = 216.3 (mm)
p (N/mm?)
PNmax
p = W
. PNmin
P s v
Mmax
tp = 6 =t
O Sa
o sa (N/mm?)
t = 13.0 (mm)
case PNmax Mmax tp PNmin Mmax tp
(kN) (kN.m/m) (mm) (kN) (kN.m/m) (mm)
1 479.4 4.7 12.3 120.6 0.0 0.0 OK
2 574.4 5.6 11.0 25.6 0.0 0.0 OK
2)
N)
o = — = oa
4+ts -+ 1b
N' Q)
PN;
N = VIVHZaX (W=7 = D%/4)
N = PNmin
ts = 9 (mm)
b’ = 65 (mm)
oa (N/mm?)
PNmax N’ ) ga
case (kN) (kN) (N/m?) | (N/mn?)
1 479.4 283.7 121.23 185.00 OK
2 574.4 339.9 145.25 277.50 OK

FORUMS8
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PNmin N’ (o) ga
case (kN) (kN) (N/mn?) | (N/mm?)
1 120.6 0.0 0.00 | 185.00 | OK
2 25.6 0.0 0.00 | 277.50 | OK
N)
T = — = ta
4+ ts - 1lh
I = 100 (mm)
Ta (N/mm?)
PNmax N’ T Ta
case (kN) (kN) (N/mn?) | (N/mm?)
1 479.4 283.7 78.80 | 105.00 | OK
2 574.4 339.9 94.41 | 157.50 | OK
PNmin N’ T Ta
case (kN) (kN) (N/mi?) | (N/mn?)
1 120.6 0.0 0.00 | 105.00 | OK
2 25.6 0.0 0.00 | 157.50 | OK

FORUMS8
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D= 0.2163 (m
E= 2.00 x 10° (kN/m)
I = 0.000036403 (m*)
( ) B = 1.187900 ™
1 B = 0.8418 (m
L gy gy o S EDICLD 104754, 0 (kKN/m?)
— DREBHD L, = — = : m
B 1/ 8
. et D
Lo EH S B = 5 = 0.4267 (m)
1
kHo = o3 - ED = 349180.0 (kN/m)
BH \ ¥
kH = kHo - (—)
0.3
kH - D
=4 = 1.187900 (m"
B 4+F-1 (™)
kHo 0.3(m)
(kN/m?)
BH (m)
kH (kN/m?)
No N Vsi kH
(m) (m/s) ED (kN/m?) vD (kN/m*)
1 8.000 | 10.0 | 172.35 104754 0.50 268094
2 11.200 | 23.0| 227.51 182536 0.50 467159
3 1.300 | 50.0 | 294.72 323331 0.50 827492

FORUMS8
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7.2
@

@

K1 kN/m 48816
K2 kN/rad 20547
K3 kN_.m/m 20547
K4 | kN.m/rad 17297
Kv kN/m 131567
K1 kN/m 48816
K2 kN/rad 20547
K3 kN.m/m 20547
K4 | kN.m/rad 17297
Kv kN/m 131567

FORUMS8
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7.3

Ass > Kv sin®® K1 cos’®
Asr Ars X Kv X sin® cosB K1 X sin® cos6 K2 cosO
Arr S Kv X* cos’®@ K1 X* sin’@ K2 K3 X sinb
Asv Avs X Kv cos® sin® Kl sin@ cosO® i
Arv Avr ¥ Kv X cos’® K1 X sin®® K2 sinf i
Avwv S Kv cos®® K1 sin®®
Ass (kN/m)
Asr Ars (kN/rad kN.m/m)
Arr (kN.m/rad)
Asv Avs (kN/m)
Arv Avr (kN.m/m  kN/rad)
Aw (kN/m)
Ass kN/m 6.834261E+005 6.834261E+005
Asr kN/rad -2.876616E+005 -2.876616E+005
Ars kN.m/m -2.876616E+005 -2.876616E+005
Arr kN.m/rad 3.120188E+006 1.681960E+007
Asv KkN/m 0.000000E+000 0.000000E+000
Arv kN.m/m 0.000000E+000 0.000000E+000
Avs kN/m 0.000000E+000 0.000000E+000
Avr kN/rad 0.000000E+000 0.000000E+000
Avv kN/m 1.841938E+006 1.841938E+006
Y
Y X

i
K4

FORUMS8
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